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Economics (New Course)

Model Question [2077(2020)]

/lhi6«]zg gDa/sf] ;'?sf b'O{ c° &$ jf ;f] eGbf a9L ePsf k/LIffyL{x?sf nflu

ljBfyL{x?n] ;s];Dd cfkm\g} zAbdf pQ/ lbg'kg]{5 . bfof“ lsgf/fdf lbOPsf] cª\sn] k"0ff{ª\s hgfp“b5 .
Candidates are required to give their answers in their own words as far as practicable.
The figures in the margin indicate full marks.

Time: 1.30 hrs.      Full Marks: 40

v08–! (Part-1)

;d"x ‘s’ (Group 'A')

-lj:t[t pQ/fTds k|Zgx?÷ Long answer questions)

s'g} Ps k|Zgsf] pQ/ lbg'xf];\ . (Answer any one question.) !x*=*
!= dfusf] d"Nonf]rsf] kl/efiff lbg'xf];\ . dfusf] d"Nonf]rsf k|sf/x?sf] JofVof ug'{xf];\ .@±^

Define price elasticity of demand. Explain the types of price elasticity of
demand.

@= Psflwsf/nfO{ kl/eflift ug'{xf];\ . o; cGtu{t j:t'sf] d"No / pTkfbg s;/L
lgwf{/0f ul/G5 < @±^
Define monopoly. How are price and output determined under it ?

;d"x ‘v’ (Group 'B')

-;+lIfKt pQ/fTds k|Zgx?÷ Short answer questions)

s'g} b'O{ k|Zgsf] pQ/ lbg'xf];\ . (Answer any two questions.) @x$=*
#= l;dfGt pkof]lutf x|f; lgodsf] JofVof ug'{xf];\ .

Explain the law of diminishing marginal utility.
$= cNksfndf s'n nfut (TC), s'n l:y/ nfut (TFC) / s'n kl/jt{gzLn nfut

(TVC) sf] ;DaGw b]vfpg'xf];\ .
Show the relationship between total cost (TC), total fixed cost (TFC) and
total variable cost (TVC) in short-run.

%= Hofnfsf] Hofnf sf]if l;4fGtsf] JofVof ug'{xf];\ .
Explain the wages fund theory of wages.

;d"x ‘u’ (Group 'C')

-clt ;+lIfKt pQ/fTds k|Zgx?÷ Very short answer questions)

;a} k|Zgsf] pQ/ lbg'xf];\ . (Answer all questions.) @x@=$
^= kl/jt{gzLn nfut eg]sf] s] xf] < (What is variable cost ?)
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&= cfly{s nufg eg]sf] s] xf] <
What is economic rent ?

v08–@ (Part-2)
;d"x ‘s’ (Group 'A')

-lj:t[t pQ/fTds k|Zgx?÷ Long answer questions)

s'g} Ps k|Zgsf] pQ/ lbg'xf];\ . (Answer any one question.) !x*=*

*= /fli6«o cfosf] kl/efiff lbg'xf];\ . /fli6«o cfo u0fgfsf] sl7gfO{ af/] jofg ug'{xf];\ .  @±^
Define national income. Explain  the difficulties in national income
measurement.

(= k|ToIf / ck|ToIf s/sf] kl/efiff lbg'xf];\ . c;n s/sf ljz]iftfx?sf] JofVof ug'{xf];\ . #±%
Define direct and indirect tax. Explain the features of good tax system.

;d"x ‘v’ (Group 'B')

-;+lIfKt pQ/fTds k|Zgx?÷ Short answer questions)

s'g} b'O{ k|Zgsf] pQ/ lbg'xf];\ . (Answer any two questions.) @x$=*

!)= d'b|fsf] dxŒjaf/] JofVof ug'{xf];\ .
Describe about the importance of money.

!!= ;/sf/L ah]6 lgdf{0f k|lqmof af/]df n]Vg'xf];\ .
Write the process of government budget formulation.

!@= a}+lsª k|0ffnLsf] dxŒjaf/] j0f{g ug'{xf];\ .
Explain the importance of banking system.

;d"x ‘u’ (Group 'C')

-clt ;+lIfKt pQ/fTds k|Zgx?÷ Very short answer questions)

;a} k|Zgsf] pQ/ lbg'xf];\ . (Answer all questions.) @x@=$

!#= j[xt cy{zf:qsf] kl/efiff lbg'xf];\ .
Define macro economics.

!$= k“"hL ahf/ eg]sf] s] xf] <
What is capital market ?
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Model Question [2077(2020)]

/lhi6«]zg gDa/sf] ;'?sf b'O{ c° &# jf ;f] eGbf sd ePsf k/LIffyL{sf nflu
ljBfyL{x¿n] ;s];Dd cfkm\g} zAbdf pQ/ lbg' kg{]5 . bfof“ lsgf/fdf lbOPsf] cª\sn] k"0ff{ª\s
hgfp“b5 .
Candidates are required to give their answer in their own words as far
as practicable. The figures in the margin indicate full marks.

Time : 1.30 hrs. Full marks:  40

;a} k|Zgsf] pQ/ lbg'xf];\ . (Attempt all questions.)

;d"x ‘s’ (Group 'A')

!= dfNy;sf] hg;+Vof l;4fGtsf] JofVof ug'{xf];\ . o;sf sdhf]/Lx? s] s] x'g\ < %±#
Explain Malthusian theory of population. What are its weaknesses ?

@= k"0f{ k|lt:kwf{df cf};t cfo, l;dfGt cfo / s"n cfosf] ;DaGwsf] JofVof ug'{xf];\ . *
Describe the relationship among average revenue (AR), marginal
revenue (MR) and total revenue (TR) under perfect competition.

cyjf (Or)

Aofhsf] zf:qLo l;4fGtsf] JofVof ug'{xf];\ . o;sf sdhf]/Lx? s] s] x'g\ < ^±@
Explain classical theory of  interest. What are its weaknesses ?

#= s'g} b'O{ k|Zgsf] pQ/ lbg'xf];\M (Attempt any two questions): @x$=*
s_ k"lt{sf] ;/fO{sf] JofVof ug'{xf];\ .

Explain about shift in supply curve.
v_ pkef]Qmfsf] jrtsf] JofVof ug'{xf];\ .

Explain about consumer's surplus.
u_ Hofnfsf] hLjg lgjf{x l;4fGtsf] JofVof ug'{xf];\ .

Explain about subsistence theory of wages.

$= ;a} k|Zgsf] pQ/ lbg'xf];\ . (Attempt all questions.) @x@=$
s_ ahf/ cy{tGqsf rf/j6f ljz]iftf pNn]v ug'{xf];\ .

Mention any four features of market economy.
v_ l;dfGt pkof]lutf x|f; lgodsf] s'g} rf/j6f dfGotf pNn]v ug'{xf];\ .

Write any four assumptions of law of diminishing marginal utility.
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;d"x ‘v’ (Group 'B')
%= s'g} b'O{ k|Zgsf] pQ/ lbg'xf];\ . (Attempt any two questions.) @x$=*

s_ d'b|fsf k|fylds / uf}0f sfo{sf] JofVof ug'{xf];\ .
Explain the Primary and secondary functions of money.

v_ g]kfnsf] ;Gbe{df jfl0fHo a}+ssf sfo{x?sf] JofVof ug'{xf];\ .
Explain the functions of commercial bank with reference to Nepal.

u_ c;n s/ k|0ffnLsf ljz]iftfx?sf] JofVof ug'{xf];\ .
Explain the features of good tax system.

cyjf (Or)

l/sf8f{]sf] cGt/f{li6«o Jofkf/sf] t'ngfTds nfut l;4fGtsf] JofVof ug'{xf];\ . *
Explain about Ricardian comparative cost theory of international trade.

^= ;a} k|Zgsf] pQ/ lbg'xf];\ . (Attempt all questions.) @x@=$
s_ d'b|fl:kmltsf] kl/efiff lbg'xf];\ . (Define  inflation.)

v_ ah]6sf] kl/efiff lbg'xf];\ . (Define budget.)
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